[ Efficiency vs vertpos |

0.950

||H|||

1072

Efficiend

107 1

10 0?
TP vertr (cr%)

[—=— DQM_original_stepZ_tbar-pnase-newgeom

mkFit_step2_ttbar-phasel-newgeom

—e— DQM_
—_— D8M_ang|e_step2 ttbar-phasel-newgeom
—— DOM

fast_step2_ttbar-phasel-newgeom

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005

.................................

............

............

.

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.
>
8.0.09
£
50.08
20.07
oy
20.06
R
(&}
£0.05
(]
0.04
0.03
0.02

0.0

S, . P B

URTR SRR U NP WO
UUUR SO U OOPRN D GO S
............
.........................
% -----
Lol

'+ ! :

L E S R

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


